SHTETA21B (BER) T

F25[HZEHRERBEEERFR

HER

BEFFEICEETY) EEFFEYGRIGED)
ZiHE KA BFEX B4 BEH

EHZ & VL 12545 H A H EE = 981.644

H N K E 7,630] H 2] R * 5 9,850.318

E-8 KX 89| &# 1y — T @d» K 59.244

#t = R ES e 377.000

N B e 3,412.280

= R R ES 5 1,928.814

H X # % O = 871.000

¥ &£ E B = 130.000

iva = R * e 2,193.072

FEDOHBEHSTHEBER 31.000

NHKMASEERZSFSRE 398.114

ZTERFNEZEZZDE 83.000

no W b o E 576.500

(EHERX)
B k- B

EFIAFEZHRN) 20,476 23,639 44115

ZHEEFHR(AN) 6,035 6,016 12,051

ELREREEEETON) 4,149 5,457 9,606

FTHEEBRBEEZEHRN) 87 76 163

ENEBREEH(AN) 1 6 7

B E BB (AN) 10,272 11,555 21,827

B OE E (% ) 50.17% 48.88% 49.48%

BREMARERE(EERX)
No. BEm£ BER

1[ILEE T & PR 47. 34%
Q0UERER 42.83%
O HINERETEE 50. 03%
ANBRAZI 2= TFsE 53— 46. 35%
S|/ RN REE 46. 87%
6lLUETRESAEE 46. 03%
I=ZEHRNAREE 46. 62%
S| EWX R 2 — 47.39%
ILEERERIE 2 — 48.21%
10| K&t X\ REE 45. 62%
NLEHmRERELE 49.12%
RIEAEREIF—/\9R 47.99%
13| EEFEE V2 — 64. 52%
HEtHREE 22— 54.87%
15| [LRHHEREV Z— 56. 05%
16|NHEEREL 2 — 51.73%
17 EEHmRE % — 54. 36%
18|t A & & 51.57%
PEASMBNNEZ— 49. 33%
WEATRE 2 — 45.53%
21 [fER/NERAETE 49. 82%
2(KBOEEEDPOHIFI=S 54. 35%
23| [BFHGEE 54.11%
UERTREV 2 — 53. 06%
25[IHUA/INER S U FIL—L 59. 44%

XERREL, HAMRELFEERZEEZER/RER LSRG LETT,



